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) Find the domain of the function/ (x )= 3.
4| R = (—o0,) (0,0) [C1(=.,0) b][-1,1]
3) Find the range of the functionf (x ) = 3.
@ R= (-QO>OO) ¢ ﬂ (O>OO> @ (_0090) {_L]‘}

4) If f (x)=sinx ,then D, =

] (~=0.1] (0,-1) B R=(-0,2)  [DI[-1]]

5) Find the inverse of the function f (x)=(2x =7)",x € [0,0}.
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Do -7t S . b1

6) Find the inverse of the function £ (x)=3x" .
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7y If 4x =3<f (x)<x +3, then limf (x )=
x—2
does not exist [le 0 \@é

8) Find the domain of the function f (x )=cos™ (3x +5).
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11) If 9¢*D =81, then x =
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14 300° =
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15) The inverse of f :{(—4,3),(—2,1),(5,4),(0,-2),(9,7)} is
[A] F 7 = {(=4.3),(1,-2),(4,5).(=2,0),(7.9)}
Blf ™ ={(-4,3),(-2,1),(4.5).(-2,0).(7.9)}
clf™= {(—2,1),(5,4),(0,—2),(9,7),(—4,3)}

] £ 70 = {(3,-4),(L-2).(4,5).(-2,0),(7.9)}
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16) Ifa=tan‘1(%J,then csca =
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21) If sin{x )=—, and O<x <—7—,€hen tan(x ) =
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30) If In(x —5)=7 ,then x =
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